EOC Practice TEST:DNA Replication
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@ A molccue of DNA is made up o
A amino scids s proteins
B ATP and enzymes
C paired ucleoides.
D rceptor eneymes

@ 1 the stocture of DN were Hhened o8
e what ond ke up the
lbetagien ™

stracture (no the

A amino scids and sgars
B nucleotide bass, ncluding thymine.
€ mackorde bases, inlading wacil
D sugar-phosphate molecules:

Usethe fusration bl o answer qustion 3.
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@ Which do DNA and RNA have in commont
A ot are donbe stranded.
B Both contin ribose moleces.
€ Both contan phosphate groups.
D Both conten wrcil.
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@ What processisshowa i the lfstrtion below?

D eplicaion

@ Protcinsarechainsof amino scids bondcd
Logether. Which  th correct sequcnce for
making proteinst
A information in DNA i formed o proein

it

B Information in RNA westhermal nersy o
‘make protin.

€ nformation in RNA mtte nto DNA and
then s made nto proten.

D information in DNA is ransered nto RNA
nd then made nto proten.

@ What occurs during frameshift mutaton?

A Part of the chromosome brssksavay, bt
ceatsches norml

B Part of the chromosome brssksavay, bt
Feattaches inimere orentaon,

€ An exta chromosome is added, casing.
mismatching of the chromosome paie.

D There is 2 miseeading ofthe base pars
during transtion.

What causs the twosides of the double helix
‘of DNA o tay joincd togethert

A joining of base pairs

B joiningof phosphate molecues

€ joining ofsugar molecues

D joiningof RNA molecus
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@ o inhcitble characcrstics world et
iy reslt from.
A taions thtcccur in e andsin celle
B mtations that oceur i male gt
€ mataions thtcccr infmse gametcs
P T e

@ Whatisthe A
he DNA sequente A-TT-C-C-AZ
A TAACGT
B UAACGT
€ UAACGU
D TAAGCU

sequenceto

@ What i the ole ofth sructure shovn here
during protein syathesist

A mRNA delverscodns from DNA in the
acens

B mRNA ataches toth ribosome
€ CRNA forms ribosomes.

D 1RNA transports amino aidsfrom the
Cytoplsm o the ribesome for ranslaion
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@ o thellstration beow, which mlccslsarc
reprscnied by hoses A and B2 i amowes i
TR

Horoditary Information

sstorsain

o

Fopicate

A Achromosomes B roteins
B A-DNA, B-protins

C ARNA, Bchromosomes.

D Achromosomes, B-protins

e prcce of DA poranfor e
L il enimtiton

A DNA diects the production of nzymes.
B DNA is  trctursl component of the cell.
memb

C DNA directly increass th solubliy of

D DNA i the major componentof cyioplsm.

@ Why can the dleion of s single nitrogen base:
in DNA du to 3 mutation b harmfultoan
organisnt

A Deetion caes chromasomes o jin the
o chromame. o

B Neury cvery amino acid i the proten ill.
Chinge ahe the delton o 3 e

€ Detion caes  gamete o hve a extrs
chromeome.

D Such a mutaton cases one chromosome to

bresk o o become fagie




